= Tow / Prf/ Prf Condey (Lo i)
LA WY DI

— WLLF%Q' ( 'tc,lmumlen. M+&akyol=&~€&w/m331’]°)

— nofes, worksheats, aome,wwkj Sylla’ow
- \A-Tkav\'@ot Aﬂ'\l\1

- ]-\nwou;avk (wwoklj)
- J’mbmewL on (fraJ&Sure
- AM Frl'plagf ot 3 P

— E)co/w.s -  bwe ‘{WV'P@ Semegtor | Ohe oebw[uj ‘Qhazlj

_ (Drojea*l: — Li.(_onl L«,'-F Lo-{‘ .C(,IM.M-"@"I ldo\.vw o hew .,Hri-c

v kead o reacorc b peper and fyw,vf

- Pa,r{»;c_{l)q,f‘n‘oh —  (Cowme to clw, L-\ﬂ a joo«/Q %MM\,\,H‘Jy
me i ber J‘raj in Fowek  whew .(owteff[»f@ Goea

wrons (-Lj. ;l\»\m)
— Office hown (dertate)

l\f(oh‘{aj! Giov-5em olrof " (C/aPP ¥23)
. WLéq.leoij |=OD-2:°° J

‘H\Js Lueg_k S

_ ho “’]’F“ihl’mwl' heceriary
Jltao = )20 - l",-gﬂ,a_yf //-'470—12-'0’9



Ck»r#w 1 lw'*Voo(,uo‘tAu'lv +|1 N«-r‘iov CLB—:WJ

D_?i A Stoebourtic rniw S oun ,—piuue et o{ ra.moL,M
Veriobles {Xt Pt I} whick <l take on

Va.‘\M’A iW « St S (.a“el "L_a S{ﬂl&ca o{
’nw (av-(,w. TLK- Lt I is <:“'“"-0Q 'l'Lx- Irvwaex. Set

awk it vepr cents time. Typica.) indler sels  are

I=-{°,|,1,3,... ,(( ( Aiscrete tu:ue)

and 1= Eo,w) ( continusrs time),

—txa.m E)e ( {fma.vﬂ geme ) C ows lﬂ&" ""1& fo ”Mhﬂﬂ

H'vw[)'yectq_gf j r“f [L w I’“h vertice wul e 47“ :

b
/.

|
e’\'/ 14

TL,_ vertices vvu'gL\,{’ V‘brkm’l‘ .(Fa,w on e Iouq/rgé

game lﬂ#& MOM‘”)U- gmrroxc we . die

and  move  clockwise «lowj the  boardd frn 0w wrrons

Vertex acis J \'nj i’v “M— Valw ‘( {L& V‘t)a .



Thew S=F obic,d,ed (loeation of flu ployer)
T={o 12,3,  § C(rownds of ftlu game )
wd X, X, X,, . ) is & stchootle proces
wheve X hep rasents e Tosiﬁ;h on the board

Q_-F-{u ‘HAk V'-t“' ro " f

D_QJ‘ (_th(»uvma,l ‘Fbr now) ﬂ M.L./L-»U (.L—a,‘m, T S"'“CLLGJ‘“G
Trocen witle ‘l‘».» fo “owi»\g er@ft\j:

e Listributon of futwre shates a@erwo& ouly ow

Yl PYWK{; Hede | not  on PM+ Statea.

Rewer k owr  board g me emm‘)le v oa HMLM/ clain .

Exirlz (boerd game ) TLI} fmn;i'[loln Sﬁe a@w
O“ Py Ma«VIcQU chein v oa a(,ircc,{*ej 3»«PL wheve
e vevtice ave the slotes, in S aud eijeA ave

lobeled with ohe- Step brensition Fm‘ml)i/.'-Hm between (tates.

Lot's draw Jert of dhe bansiton dode dingran

fev T‘Ar loua rl Yrwe )



Y% Tlas diagrewm s

2/,
Q®//—_ﬂ® hot yet+ umrle-be,
v, o
< .L'* Om‘xj c,q,r‘hvym
%
’ l/" 'I'U'uU\K‘H’L;\q_S ‘”“"’t“":j {'NM

O] ©  Slake @ Thy 4
&Mfl&u "+ 50»015&(;-

No“'\'oe— -“,‘ eﬂj@ PY":)LWL;LL‘HCA er-;VLQ. '\'—"‘Q Fowmn GC-CL J"}q-{ﬂ

Should  swm  Fo 1.

TL.a tronsition  matriz 0{ o~ ‘vlvaou cboin  enctes

flfaud;{'w'\a PPOL«L/(A"'\'% ‘f‘hem each state .

G b < 0?: (A
- Ve v Y %
L Yy A A /s Y.

e %/, /o Ye 1 A
—
pow @ v—e.fwnewfs transition erLﬁLﬂL;'I’IM away /Nm State (&)

NJotice e vows CC‘OL\; June «L-\; 1



Problem 1. For each of the following examples, identify a stochastic process {X, : t € I}. Then,

determine the state space S and the index set 1.

a. We're interested in modeling day to day weather; specifically, we're interested in rain condi-
tions. Suppose that the chance of rain tomorrow depends only on today’s conditions and not
on any past conditions. If it rains today, then it will rain tomorrow with probability 0.6. If it
does not rain today, then it will rain tomorrow with probability 0.2.
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A gambler starts with $5 and decides to play the following game. In each round, a coin is
tossed. If the coin lands on heads, the gambler wins $1; otherwise the gambler loses $1. The
gambler stops playing when they run out of money or when they have $10 (that is, $5 more

veprese h\.‘L‘Vﬁ dicerete 0(&7;

A small grocery store has one employee whose job is to work the cashier. When a customer

arrives at the cashier line, if no one is in line, they are served. Any other customers that
arrive at the line while the employee is busy must wait to be served. However, if the line is
too long (ie. there are 10 or more people), they leave. What if there’s no limit to the length

of the line?
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Problem 2. Let’s focus on the weather example above. Part ¢ below might feel a little tricky 0.4
but we’ll review probability ideas together all semester and we’ll learn new ideas related to matrix @

algebra that will make these and trickier questions more routine,

a. Draw a transition state diagram and write the transition matrix for this example.

b. Suppose today is Day 0 and it’s raining. What is the probability that it’s raining on Day
17 There’s no computation to do here; I just want you express what we're looking for using

random variable and conditional probability notation.

c. Suppose today is Day 0 and there’s 50% chance it’s raining. What is the probability that it’s R N
raining on Day 17 Before giving a numerical answer, express what we're looking for using

random variable and conditional probability notation.
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Next twe we'll talk about
te Law of Totel Prtetiley,

(2.3)(0.6) + (0-7>(0.2)

0% + 0% = 0.32
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